2025 I TARAV I VF UV I<SRTTVEF>
A 2025/5/13
[35mULEBEF> > 7L R] [35mUEBFL7ILR]
Rank| K % B A v MEAEH Rank| K % B A MEEH
1 B B AlM b vE 363 1
2(& # W A[TOY'S Tennis Lab 254 1
3|+ B BArrrE 177 1

(40U EBFY >~ 7L R] (40U EBFL 7 ILR]

Rank| K % B KA v MEAEH Rank| K % B A v MEEH
11 B #HA—LZ77>F 36 1 1|A # & A|TOY'S Tennis Lab 363 1

1% B H A|BT=RF7 254 1
3|18 8 B J(ET=2077 177 1
4B B & E|XEWT=2Hs 15 1
AH O # Z|REHT =28 15 1

(45U EBF> > 7L R] [45mULEBF LT ILR]

Rank| K % B A v MEAEH Rank| K % B A v MEEHK
L[ )1l B {S|TOY'S Tennis Lab 620 3 LB mARAbTvE 667 2
20 0O RBlfzvaracrar=zss7 490 3 212 W B BlA—L5uv kR 290 2
3| E R 5h|7vyvr=2s57 100 1 3| Il B {5|TOY'S Tennis Lab 289 1
AER R BZ|70977=2277 27 2 AN IR & BRBTC 202 1
5|18 B fh Z|rror-vr=xosy 15 1
6l £ & 7l|lvvyvr=2s77 15 1

[50mULBEF> 7 ILR] [50mULEBFXTILX]

Rank| K % B A v MERAEH Rank| K % B A v MEEHK
118 g 8 K|LET=xs77 1725 5 1|=E )1l # m5|ToY's Tennis Lab 1225 4
2|F JII $ m3[ToY's Tennis Lab 1296 3 2|8 I B K|WBET=R477 491 2
3PN A 1 =|EZMTA 753 3 2| X O ®LET=2s57 491 2
AER) BR|purvr7=2257 328 2 4lF M  f[Tor's Tennis Lab 399 2
5|F H m|mmsmemr=zs 318 4 5|13k B & BBl7zvvvr=2s57 289 1
6|FF [ IE SE[evanmcvrr=assy 247 1 6| B = T|AmEST =B 249 2
Tk B 18 B|lrvvor=zs57 183 1 6|7 H T|esismETr=2Hs 249 2
8| |’ M|mET=Rs77 145 2 8liE BE B E|rrvr-vrozassy 202 1
9|F & # Z|TEAMO/40 145 2 8l & Blreor-srzzssy 202 1
9| W8 | T E AMO/40 134 1 10111 #F & F|&MTA 160 2

1113 B K B|%KET=2iEBs 116 2 10 B K Bh[&ERHT =2 HBE 160 2
12|fe 4 K 8| T -one 107 1 12|EA) B R|survrr=2s57 114 1
13N R B —|79975=z2457 100 1 13| @ IE S&|everatvar=zsss 79 1
14|F ¥ IF AlI|ESFT=277 39 3
15|+ #f& B TOY'S Tennis Lab 36 1
16|14 B AR ;B|TOY'S Tennis Lab 27 2
17|88 & iE W|571vr77=2257 9 1




[GomUEBFY v 7L ] [G5mU EBFX7ILR]

Rank | K 4 T B A v b EEHK Rank| K % Fr B RA v MEAEHK
11+ B # F|zrrreimr=ass 872 4 1|K 2 = @HAbrvE 770 3
2|5 e B E|meraorrmzsoy 601 3 2112 B # =T E AMO0/40 559 3
3|KEE EAFETC 431 2 3l & HE|7rav—~—FKTC 538 4
4|t B % =T E AMO0/40 353 1 4|5 B L E|5rvrezryy 383 3
518 A& B[ermredvirzassy 304 3 5@ tE B wlv—oLT 254 1
6|0 & & BAAEMmT =B 272 2 5| B & FE|Y—I 0T 254 1
7(f8 B E A|T E AMO0/40 151 2 5laz f& TI|FSA 254 1
8|H MBI F Bk|=zvarmavnr=zso7 127 1 8|1# A & —|La- Fa—7 163 1

I B B|ERMTA 15 1
9Im E ZF AABTT=ZHe 15 1
9|F H R JF|zvararvrr=zs57 15 1
12|18 m K F) R |evanasrnr=xs57 6 1

[60mULEBEF> > 7 IILR] [60mULBFHTILR]

Rank | K 4% T B KA v MEAEH Rank| K % B KA v MEAEH
g K — Z|EMTA 702 2 1|85 K — Z|&RMTA 1089 3
207 Ik B El|=varairrrzzssy 581 3 2[@m e #—|7vvvr=zxs57 435 2
3|1#1 L B T|AETT =2 201 2 3|5 H B|7v9r7=2557 435 2
AlFEE #—|rvvvr=zs57 196 1 A% L B T ABHT =2 Be 372 3
513 b IF Z|rrsvr-vrzzss 107 1 517 R B El|evaracnr=2s57 85 2
6| BE & 2lvvvvr=zxs37 57 5
6|F W B E|vvyvrm=zsr7 57 5
6[fn B £ |zvarsaonzr=ass7 15 1

[65mULBEF> 7 ILR] (65U LEBFLTILR]

Rank | K 4% B A v MEAEH Rank| K % B RA v M EAEH
e 4 R 8§ —|-m774-17=2557 6337 5 12 B & —|AmEmRT = 2ipe 310 1
211 B R|AMETRTZZHE 353 1 1ME B RIAMEGT=XHe 310 1
3N B F FlzTarrrroasss 129 6 e B Y —onT 210 3

3|1 B Z|P—o T 210 3
54 4 K s —|-ms74-r7=2557 48 1

(70U LB F> > 7L R] (70U EBEFE7ILR]

Rank K % Fr B A v MEREH Rank| K % Fr B A v b EREHK
I\ B & &|z71vr77=2257 2487 5 1|18 B —|zasmEsr-zps 310 1
208k 2 % #FMARS-T 1369 4 115 B  FE|s71vrrrzzs57 310 1
3t ¥ R|EHT=RIITT 1032 5 3| E X ZIMARS-T 54 3
Al B —|mamEmT -2k 18 1




[TomUEBEF> > 7 LR]

[T5m U EBF XTI R]

Rank| K % T B A v b EEHK Rank| K % Fr B A MEEHK
1 W R|ESIU—v 444 1 1| KKk BEAERT=ZAHR 372 3
2188 )1l Z|evsrnqvarz=zssy 430 4

[B0mULEEF> > 7L R] [B0mMULBFHTILR]

Rank| K % T B A v EEHK Rank| K #% B A v MEEHK
11T B 5 BuwiT=xs77 1924 2




2025 | TARA Y b I Vv F UV I<NTFIoF>
F#*H 2025/5/13

(45U L& Fv v 7L R]) (458 L FHF R 7L 2]
Rank| K 4% B A MEAEH Rank| K % i B A v MEAEH
112 & = #|Es7Y —> 363 1

(50 A L&F> > 7] (50U EzF X 7ILR]
Rank| K % B A v MEAEH Rank| K % T B A v MEAEHK
1|# 4 BR ZE|TOY'S Tennis Lab 411 2
21 B #*& F|L.E.T 363 1
2l B R EAM TR 363 1

[55m A LT v 7] (55U Lz F X 7L R]
Rank K % T B KA v MEEK Rank K % T B A+ EEH
1B & = FIMARS-T 425 1 1[/NH =1k F|TOY'S Tennis Lab 297 4
2|EF X E #|FSA 269 2
2| & &= #H[FSA 269 2
IME B B Flrvvrr=zs357 205 1
AEBR AEF|7o977=22057 205 1
6| H ZE F|lsFerr-xs57 192 2
6|ERE Al I 5717722457 192 2
8l B = Flsryirrzzss7 143 1
9| a1l e inA]|FSA 6 1

(60U LzF> o ILR] (60U Lz F X7 ILR]
Rank K % Fr & A > MEAEH Rank K % Fr & A MEAEH
1B & = FIMARS-T 432 3 1R = # F|AtLTC 617 2
1Y EEF|F—NLTF T F 617 2
3l & "X FIMARS-T 261 3
4178 BE & #Blrrrrvar=zs57 254 2
5Kk & B Flsvvibrzzsss 143 1
6|F #; B Flz71rrr7r=2s57 36 1
TBEH DCH|ALLETC 15 1
V8 H ol FEET ) —~ 15 1




(65U EZF> > 7L R] (65U ELF X TILR]

Rank K % Fr & RA v MEEK Rank K % Fr & RA v MEEHK
1M B B E|571> k7722057 27 2 11 B JE T|IAmEST=2ips 220 1
2|RBE N F|evrrntraroxssy 18 1 1{E B BB ZE|AmERT=2He 220 1

3|tk 4« RFEBK[FSA 6 1

(70U E&Fv > 7L R] [T0mUELFETILR]

Rank K % Fr & RA > MEAERK Rank K % Fr & RA v MEEHK
1BEAKR D F|574v k75722457 3176 4 1A\ NI F|574v 7722257 2323 4
207G S F|571v k7722257 2143 5 218K & D F|571vr77=22257 456 2
3I)IKk M X F|A b vE 1746 5 3K MM R F|A b vE 328 1
4% £ M FILET=r777 1081 3

[7T5mULELF> > 7 ILR] [T5mU EZF &7 ILR]

Rank K & Fr B A v MEEH Rank K % Fr & A v bEEH
1k B = F|s571vr77=22457 707 2




